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2 IS
M LTS AIE PE
Rl SEESAE Jlgt 25 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AEALHA SSAE 29| 542,365 555,112 A12,747
p] 379,656
Al 162,709
307 212+0| & 542,365 555,112 A12,747
I 379,656
Al 162,709
10 A= XAl SEE A2 X 542,365 555,112 A 12,747
OMZATIH BBAL 22| 542,365
pJ 379,656
Al 162,709
SEALNN SSAL ISSX MYl S 14,139 13,937 202
p] 14,139
301 YBHIAD 14,139 13,937 202
pJ 14,139
01 A2 EAHS(2DSEMS) 14,139 13,937 202
OMZAMHT EBAIL Hl&DX M|
= 14,139
p] 14,139
SEATIHK 2SAL AREE TR0 19,240 19,240 0
p] 13,468
Al 5,772
307 QIZHOIH 19,240 19,240 0
p] 13,468
Al 5,772
1 A= XA EE 19,240 19,240 0
OMZAMHN HSAIL XB5=2T2 ) 19,240
p] 13,468
Al 5,772
SEATGHA 2HAL Ol2H| L b 2,000 2,000 0
p 1,400
Al 600
307 21201 & 2,000 2,000 0
| 1,400
Al 600
1 A= XA EE 2,000 2,000 0
OMZMHN HSAIH O\ZH L 2reH| 2,000
I 1,400
Al 600
HEATHK 2SAE IISELAL 3,157 56,136 A52,979
p] 1,579
Al 1,578
402 QIZHRHR 0| 3,157 56,136 AB2,979
p] 1,579




A OIEE L
M QMBEAS P
B2l SHBESAE Jgt 7= (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,578
02 QI XHE AL E R (01X THE) 3,157 56,136 A52,979
OdZHIIoA ESAIE JIsE2LAMS 3,157
Il 1,579
Al 1,578
SOHOHIIOH A+ XIZAIE 2] 388,961 71,577 A322,616
Il 212,272
Al 116,689
307 glztol & 388,961 1,577 A322,616
Jl 212,272
Al 116,689
10 Al SAAEEHE 22X 388,961 711,577 N322,616
O OHORIIOH A+ XIZAIE 22| 388,961
Il 272,212
Al 116,689
SOHOHIIOH At XIZAIE AEXZALS 57,723 93,472 N35,749
7l 40,406
Al 17,317
307 elztol & 57,723 93,472 A35,749
Jl 40,406
Al 17,317
11 MEISXAEE 57,723 93,472 N35,749
OdOHOR WO At NI HAIE AKX RHA 57,723
Jl 40,406
Al 17,317
ZH5Uol 0108 EsAld 22 257,367 256,767 600
Il 180,157
Al 77,210
307 212+01& 257,367 256,767 600
Jl 180,157
Al 77,210
10 Al SXAIEEHE 22X 257,367 256,767 600
OZ=llch 01F0d 2ESAIE 23] 257,367
Il 180,157
Al 77,210
Z0lol 0IF0E ESAIE JISEZAY 7,000 8,383 A 1,383
) 4,900
Al 2,100
402 2I2F X201 & 7,000 8,383 1,383
Il 4,900
Al 2,100
02 SIINEANSEX(0IETHR) 7,000 8,383 A1,383
O==llch 0IF0E 2ESAIE JIs2ELAM 7,000




A OIEE L
HY: QGHBEAS 2H
Chel: AHESAE JIgt 25 EER=E)
SA - B - SRUBH) - MRAR - BAS ofl &t A HIDEZ
7l 4,900
Al 2,100
Zd0lch Ol BEsAlE AR REXE3 10,000 10,000 0
Il 10,000
301 2eEN= 10,000 10,000 0
7l 10,000
01 Al EE A S (2 RNEXMA) 10,000 10,000 0
ZHIol OIF0d EsAIE &4k NE
s 10,000
Jl 10,000
=gl AEAES dF8ARE 28 400 400 0
201 Zet=3h] 400 400
01 Al 2218 400 400
OJIE =51l IHEXNRES dEAAMRAS
=29 50,0002 x4 +23] 400
HE=TIGHA XZAIE =SRS58 198,790 399,452 A200,662
Al 198,790
307 @20l & 198,790 399,452 A200,662
Al 198,790
10 Al SXAIEEHE 22X 198,790 399,452 A200,662
O ZHTIGHAT XIZAE SXSAH] 198,790
Al 198,790
HEAE =i 4HSA 150,000 150,000 0
= 135,000
Al 15,000
301 EtE N = 150,000 150,000 0
= 135,000
Al 15,000
01 ARRI2HHSFS(RRNERTH) 150,000 150,000 0
ONEAIE ==kt HAHSN 150,000
= 135,000
Al 15,000
SOHOHTION A THErSE s & &2 XA 2,000 2,000 0
Al 2,000
307 212t01 & 2,000 2,000 0
Al 2,000
11 Al SXIAIEE 2,000 2,000 0
OdONHLai At tHeS=E=s & stita Al
Are 2,000
Al 2,000
=502 E530A 25 - 29 9,000 10,000 1,000
201 Let=d] 2,000 4,000 22,000
01 AlR2teldl 2,000 4,000 /2,000




A OIEE L
M QMBEAS P
B2l SHBESAE Jgt 7= (Gt H2)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
Ou4d==a02LE8MA +5 - 29 2,000
301 EtE N = 7,000 6,000 1,000
14 JIEt 2 a3 7,000 6,000 1,000
O0ts - oot 2 st
50,0008 x2& +703] 7,000
Hgeolgg=z & g2 6,980 9,540 A2,560
201 2= 6,980 7,940 A960
01 At22t2l] 3,900 5,100 21,200
OxF2EHHt 28 S 1,000
OC4ZstEAIEAN 28 &4 =&
100,0002 x 1113 1,100
OongdTelgad 28 ¥4 =&
100,000 x9& »23] 1,800
® 2=2H| 3,080 2,840 240
OotalEE ®I|2 200
OoraEE X
120,000 12«20 2~ 2,880
4 W =501 3,000 3,000 0
201 fer23y| 3,000 3,000
01 AtR2t2|HI 3,000 3,000
OAE e =0 3,000
25 2 I N 51,018,312 45,788,388 5,229,924
= 26,600,748
Il 2,49%,2%
Al 16,067,913
- 5,863,356
=i sd 7,986,962 9,150,316 1,163,354
= 2,883,306
Il 2,496,295
Al 1,731,345
- 876,016
Hotg 0124 1,469,000 1,338,000 131,000
= 1,102,000
Al 183,000
- 184,000
308 AtXIEHMSOIE 1,469,000 1,338,000 131,000
= 1,102,000
Al 183,000
- 184,000
18 SIS0t EAS A 1,469,000 1,338,000 131,000
oxggolEad 1,469,000
= 1,102,000
Al 183,000
- 184,000
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S JEFED)
Hu: 2% o JIE N

Rl JIESA S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

301 EtE NS 131,900 132,640 AT40
Al 131,900

02 ARSI S2E AT S(FIANS, XLETHE) 131,900 132,640 AT40
OsR2I1E HHu= & 131,900
Al 131,900

S A F=AXE 2,000 6,000 24,000
Al 2,000

301 EtE NS 2,000 6,000 24,000
Al 2,000

02 ARSI 2E AT S(FIANS, XLETHE) 2,000 6,000 24,000
ORItE Mg F=AHXE 2,000
Al 2,000

FAERLD oSS N2 16,800 16,800 0
= 8,400
Al 8,400

301 22N = 16,800 16,800 0
= 8,400
Al 8,400

01 A2 HSFS(RNEERTHE) 16,800 16,800 0
OFAHERR Ots&=H| K& 16,800
= 8,400
Al 8,400

OL0IES A& 2,532,722 2,532,722 0
= 1,772,906
Al 379,908
- 379,908

307 elztol & 2,532,722 2,532,722 0
= 1,772,906
Al 379,908
- 379,908

11 AMEISXAEEE 2,532,722 2,532,722 0
OotoI=s XA 2,532,722
= 1,772,906
Al 379,908
- 379,908

JIBdH 29 447,280 446,680 600
Jl 223,640
Al 111,820
- 111,820

307 212+01& 447,280 446,680 600
7l 223,640
Al 111,820
- 111,820




A OIS
B 9 U JbE X8
el JIESK A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 AlRISXIAIEEE 22X 447,280 446,680 600
OJt&EHE 24 447,280
Jl 223,640
Al 111,820
- 111,820
ZE0I12A SHAAHIA 34,100 32,813 1,287
Jl 17,050
Al 8,525
- 8,525
307 212+01& 34,100 32,813 1,287
Jl 17,050
Al 8,525
- 8,525
11 ARRIS XA E X 34,100 32,813 1,287
OZE0[2Xt SHAMEIA 34,100
Jl 17,050
Al 8,525
- 8,525
olsgoiiEEd =4 36,430 35,031 1,399
Jl 18,215
Al 9,107
- 9,108
307 gl2to| & 36,430 35,031 1,39
Jl 18,215
Al 9,107
- 9,108
11 AMEISXAEEXS 36,430 35,031 1,399
Oolscotsed &4 36,430
) 18,215
Al 9,107
T 9,108
201N SHeAA 15,500 15,500 0
Il 7,750
Al 3,875
- 3.875
307 glztol & 15,500 15,500 0
J| 7,750
Al 3.875
- 3,875
11 AMRISXAEEES 15,500 15,500 0
OZ =012t S22 15,500
Il 7,750
Al 3.875




SM: JEEBY
Hu: 2% o JIE N

Rl JIESA S8 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| > 3.875
NEHEH SAER SAIECIE XA 1,400 1,300 100
Al 1,400
307 212+01™ 1,400 1,300 100
Al 1,400
10 AlSISXAIEHE2ZHIEX 1,400 1,300 100
OJIEHEH SAHAL SXZEQE K& 1,400
Al 1,400
G2zt XI& 1,200 1,000 200
201 Let23H| 1,200 1,000 200
01 At 22|l 1,200 1,000 200
OUREPIEXAE2s 2 &4
100,000& 6 *23| 1,200
2= 2 ol X 43,031,350 36,638,072 6,393,278
= 23,717,442
Al 14,326,568
- 4,987,340
2= AIY F& 3,500 3,700 A200
201 L2 AH| 2,100 2,300 A200
01 AtR2telt] 2,100 2,300 A200
OE=SAtS oty AL HIZ
10,0002 10022 1,000
OMREH HRu=s W HE
10,0002 1002 1,000
OEsg: =8 89 HH 100
203 RF=&H| 900 900
03 A FRIHRF=AIY| 900 900
OSSMALR AIHFZ 900
301 LPENSZ 500 500
14 J|EtE A2 500 500
OE=udA AL U= 500
2R3 F4Y 3,900 3,900
201 B2 AY| 3,900 3,900
01 AR2teld| 3,900 3,900
OES9I28l 319 &HASL
100,000 *13H*32| 3,900
SERUWAR AL XA 5,459,424 5,459,424 0
= 3,275,655
Al 1,528,638
- 655, 131
307 QIZ2t01 A 5,459,424 5,459,424 0
= 3,275,655
Al 1,528,638




A OIS
B 9 2 Ob= X9
el 25 2 oelolE XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 665,131
10 Al SXAZEE 22X 5,459,424 5,459,424 0
OEFuA& 12| 5,459,424
= 3,275,655
Al 1,528,638
- 655,131
QIABIXIZOE0IE EFuA SX+=E 21,600 21,600 0
Al 21,600
307 glztol & 21,600 21,600 0
Al 21,600
10 Al2ISTIAEEE2HIEX 21,600 21,600 0
OCIAHIXIE el0lE EF|UAL SX+=2 21,600
Al 21,600
ZHSEROLOBI0IE EFuA S+=2R4E 25,200 25,200 0
Al 25,200
307 elztol & 25,200 25,200 0
Al 25,200
10 Al2ISTIAIEEE 22X 25,200 25,200 0
OHHEROI0BI0IE EFuA S22+
g 25,200
Al 25,200
JZEFSXHNE0E ESuAL #J125+E 76,800 76,800 0
Al 76,800
307 el2to| & 76,800 76,800 0
Al 76,800
10 Al2IS XA E 22X 76,800 76,800 0
OJI22SS X020/ EFuA |12
e 76,800
Al 76,800
JIZESS AN 0 Xel& 12 60,000 60,000 0
Al 60,000
307 @120l & 60,000 60,000 0
Al 60,000
10 Al SXAAEEHE 22X 60,000 60,000 0
OJ 222 XA 0201 =c|& 2| At
o 60,000
Al 60,000
SN MRIME X (DAI2LEZHLH]) 1,328,400 1,328,400 0
= 797,040
Al 371,952
- 159,408
307 glztol & 1,328,400 1,328,400 0
= 797,040




A OIS
HE: 2% 9 ObE X9
el 25 2 oelolE XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 371,952
T 159,408
10 Al2IS XA EEE 22X 1,328,400 1,328,400 0
OEsDAE MM X (RAIZ2REZH
) 1,328,400
= 797,040
Al 371,952
- 159,408
ESWAIA MRS X2 (ST WAL 124H]) 2,465,182 2,465,182 0
= 1,479,109
Al 690,251
- 295,822
307 glztol & 2,465,182 2,465,182 0
= 1,479,100
Al 690,251
- 295,822
10 AlRISTIAEEE 22X 2,465,182 2,465,182 0
KUY MM NS (XA 1A
Bl) 2,465,182
= 1,479,100
Al 690,251
- 295,822
JI22=8 X& 0e0lE EsUA S 504,000 504,000 0
Al 504,000
307 @I2H0| & 504,000 504,000 0
Al 504,000
10 AlIS A8 E 22X 504,000 504,000 0
OJIZ225g A& Helold ESUAL SX
=g 504,000
Al 504,000
SKNTA HRAUE XA (FEXRSH) 55,440 67,200 A11,760
307 elztol & 55,440 67,200 A11,760
10 Al SXAIEEHE 22X 55,440 67,200 A11,760
ORFDAY WM U (ABHL24Y) 55,440
238 20l X (HEAt) 666,667 666,667 0
Al 586,667
- 80,000
307 @12t01 & 666,667 666,667 0
Al 586,667
- 80,000
10 Al2ISTIAIEEE 22X 666,667 666,667 0
O3 oelolE X2 666,667
Al 586,667
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A OIS
B 9 2 Ob= X9
ol 2] % oglolE N3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 80,000
3 ooy Xcl@ l2dl K& 32,400 32,400 0
Al 32,400
307 el2to| & 32,400 32,400 0
Al 32,400
10 Al2IS XA EEE 22X 32,400 32,400 0
O3&8E0el0ld £eld el2t] 32,400
Al 32,400
AMZHIESAMEIA HSXIE 330,976 330,976 0
= 165,488
Al 115,842
- 49,646
307 @120l & 330,976 330,976 0
= 165,488
Al 115,842
- 49,646
10 Al SXAAEEHE 22X 330,976 330,976 0
OAIZIMES M2 XId 330,976
= 165,488
Al 115,842
T 49,646
ORIOIEIOIY Z2IAZE 28 AtgHI 316 316 0
Al 316
307 glztol & 316 316 0
Al 316
10 AlRISXAZEE 22X 316 316 0
OO0rtO{eloly 22IAZ2 28 ArgHI 316
Al 316
Oelold sdstis & =3teiAtY 44,300 44,300 0
Al 44,300
307 glztol & 44,300 44,300 0
Al 44,300
11 ARRIS XA E X 44,300 44,300 0
OO0y sdsts & St A 44,300
Al 44,300
Of2I01E 2N (00IE Wi =2Hl) 41,673 61,941 N20,268
= 25,004
Al 11,668
- 5,001
307 el2tol & 41,673 61,941 N20,268
= 25,004
Al 11,668
T 5,001




A OIS
B 9 2 Ob= X9
ol 2] % oglolE N3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 Al SXAIEEHE2EHI2x 41,673 61,941 N20,268
Oolelold 2 A2 (012018 R+ 41,673
= 25,004
Al 11,668
- 5,001
IR0IE=E K& 10,626,377 12,008,524 1,382,147
= 7,969,783
Al 1,859,616
- 796,978
308 XXM SOIA 10,626,377 12,008,524 1,382,147
= 7,969,783
Al 1,859,616
- 796,978
183 SIS U B 4 HASAIE 10,626,377 12,008,524 1,382,147
O02Ml 258 S K& 10,626,377
= 7,969,783
Al 1,859,616
- 796,978
S50 (o) XA 12,849,327 6,221,596 6,627,731
= 9,636,9%
Al 2,248,632
- 963,699
301 EtE NS 12,849,327 6,221,596 6,627,731
= 9,636,9%
Al 2,248,632
- 963,699
01 Al EE A ZS(2DEXMR) 12,849,327 6,221,596 6,627,731
ORZs0 € 252 XN& 12,849,327
= 9,636,9%
Al 2,248,632
T 963,699
s 2 KA 487,316 774,011 N286,695
= 365,487
Al 85,280
- 36,549
301 EtE NS 487,316 774,011 N286,69%
= 365,487
Al 85,280
- 36,549
01 ARSI 2E AL S(SREXMH) 487,316 774,011 N\286,69%
OGP e SON 487,316
= 365,487
Al 85,280




A OIS
B 9 2 Ob= X9
el 25 2 02018 K& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 3,549
FREYE=EE X 444,150 404,850 39,300
Al 310,905
- 133,245
308 XXM SOIA 444,150 404,850 39,300
Al 310,906
= 133,245
18 21 BSOS A= S ALY 444,150 404,850 39,300
OIBERRNA0RI0IE 2364 222
252 A 444,150
Al 310,905
- 133,245
Sae ggotet 2 K& 64,140 64,140 0
Al 64,140
307 elztol & 64,140 64,140 0
Al 64,140
10 Al2ISTIAIEEE 22X 64,140 64,140 0
OR4d ggoret 28 X 64,140
Al 64,140
OI3-5MI0F =2ltE BE58 5,475,516 5,475,516 0
Al 5,475,516
301 LEtE N = 5,475,516 5,475,516 0
Al 5,475,516
02 MBI 2EHSFHS(HAANS, XLHE) 5,475,516 0 5,475,516
OBI-5AI0t =elHd 258 X 5,475,516
Al 5,475,516
QIAHIXI A0 X2 10,800 10,800 0
Al 10,800
307 gl2to| & 10,800 10,800 0
Al 10,800
10 Al2IS XA EEE 22X 10,800 10,800 0
OCIAHIXNZ0e01d Xt&F2E| 10,800
Al 10,800
IAHIXIZ 0201 Rr2SHI(XHAI) 27,000 0 27,000
307 elztol & 27,000 27,000
10 Al2ISTIAIEEE 22X 27,000 27,000
OQIAHIXIZN 0l 2SI (XHM) 27,000
ZOHOIE 2012101 REEIIAL Q12| 4,800 4,800 0
Al 2,400
- 2,400
307 gl2to| & 4,800 4,800 0
Al 2,400
- 2,400
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AN IS
ZE: 015 - diE A2l 2F
oel: Ol - 34d 25 & F( EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oots=¢ 8,148,161
= 6,518,528
Al 1,140,743
- 488,890
CletNssdH 2148 X 390,784 309,764 81,020
= 195,392
Al 97,6%6
- 97,696
307 212+01& 390,784 309,764 81,020
s 195,392
Al 97,696
- 97,69
10 Al SXAIZEE 22X 390,784 309,764 81,020
OUEgN=sdH el2dl X2 390,784
[ 195,392
Al 97,69
- 97,69%6
Ciet=sde 234l X3 64,000 52,000 12,000
[ 32,000
Al 16,000
- 16,000
307 gl2to| & 64,000 52,000 12,000
[ 32,000
Al 16,000
- 16,000
10 Al SXAIEEHE 22X 64,000 52,000 12,000
Otighss4dH 284l X3 64,000
= 32,000
Al 16,000
- 16,000
Gt EsS4dE 221 X2 (KHA) 48,300 39,600 8,700
201 Ler=23| 3,500 3,200 300
01 At2teltl 3,500 3,200 300
OXg=sE2H 3l Eu+d
100,000 x10H*23] 2,000
OUsl=sHe LAAEHARAE 2 22
g4 =g 100,000 38 x33] 900
OtiglNss4dH gg 24Ea & =5 At
g2 S 600
307 el2to| & 44,800 36,400 8,400
10 Al SAAEEHE 22X 44,800 36,400 8,400
OotgNssdy 238l A& 44,800
CIE=SdE SALL SAZEE 1,000 800 200
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2A: JIEEM
ZH: 0s - FAE 22| 2F
oel: Ol - 34d 25 & F( EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 1,000
307 212+01™ 1,000 800 200
Al 1,000
10 AISIS XA EEE2IHIE X 1,000 800 200
OCtNE=sdE SALAL SXIELIE 1,000
Al 1,000
CletHSsS4dE SAEL HSIMAL] 70,220 70,220 0
Al 35,110
- 35,110
307 212+01 A 70,220 70,220 0
Al 35,110
- 35,110
10 Al S XA EBEER2IHIE X 70,220 70,220 0
OtetN=sdEH SALL HSINAL] 70,220
Al 35,110
- 35,110
CIEtHESSHIEH SAHA AlZ2EI2RY 5,118 4,160 958
Al 2,559
- 2,559
307 212+01 A 5,118 4,160 958
Al 2,559
- 2,559
10 Al =S XA EEER2IHIE X 5,118 4,160 958
OUEHESHE SAHA AlIZII22Y 5,118
Al 2,559
- 2,559
Had B85 2 =4 98, 158 929,508 A1,350
= 67,066
| 307,094
Al 325,118
- 228,880
HaE =X 928,158 929,508 21,350
= 67,066
| 307,094
Al 325,118
- 228,880
HAEES 10,150 10,150 0
201 Let23H| 10,150 10,150
01 At 2elt] 10,150 10,150
OFLEHS Y3 5,500 *7000H 3,850
O T83AEsS4RA23], 3o&dsY
100,000&*9H *13| 900
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2A:

B HAE P95 U 54
thel: Had =X (S &M
SN - B S(BH) - HPAY - BAS ol by G o HDS2
O TXEAe HEAEESSIENA 2H/AS
3y 3oEHE 100,000 * 10 #23| 2,000
O T nZAYHIAE 3], 3o &AL
100,000 * 12 %23| 2,400
Ogu=EE gt & Roistd e 222 H
& 1,000& *1,0007H 1,000
HalE AL XA 134,132 134,132 0
= 67,066
Al 33,533
- 33,533
301 LEtEXZ 134,132 134,132 0
= 67,066
Al 33,533
- 33,533
01 AIBIE& X262 (2 DEXTE) 134,132 134,132 0
OFAE HLXEAAIS 134,132
= 67,066
Al 33,533
- 33,533
MET|R, AL RAS H4aE SR 13,660 13,660 0
J| 9,562
Al 4,098
301 LEtEXZ 13,660 13,660 0
J| 9,562
Al 4,098
01 Al BEE 462 (2DEXE) 13,660 13,660 0
OMEXR AN S BAE SEN 13,660
J| 9,562
Al 4,098
st g HAUE XA 127,336 127,336 0
J| 89,135
Al 19,101
- 19,100
307 2I2t0| ™ 127,336 127,336 0
J| 89,135
Al 19,101
- 19,100
05 QI2ZIRIE = 127,336 127,336 0
Osty g H344E A& Al 127,336
J| 89,135
Al 19,101
- 19,100
St g HAUE XJAE SAH MM+ 3,600 3,600 0
Al 1,800




2A:

LI PNERCE R
& Had =X EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
- 1,800
307 212+01™ 3,600 3,600 0
Al 1,800
= 1,800
05 Il 3,600 3,600 0
OStD % AW KA SAR LW
=g 3,600
Al 1,800
- 1,800
s g 3AE ZAY A 8,948 8,948 0
J| 4,474
Al 2,237
- 2,237
307 212+01 A 8,948 8,948 0
| 4,474
Al 2,237
- 2,237
05 QIZtAErZ 8,948 8,948 0
Ostn & 43 gAlHl X 8,948
pJ 4,474
Al 2,237
- 2,237
st 2 HAaE gAHl XA (ABIXIA) 1,578 1,578 0
Al 1,578
307 212+01™ 1,578 1,578 0
Al 1,578
05 CIZtRIErZ 1,578 1,578 0
Ostw gt HaE Z4H| X2 (AYIXIE) 1,578
Al 1,578
sty 2 ZA49 WEH| XI& 12,150 13,500 A1,350
301 LetEHZ 12,150 13,500 A1,350
2 A BEHHZ(HAANS, NYTHA) 12,150 0 12,150
Ostn & HAE nEHl K& 12,150
HAENY 2Y 100,102 100,102 0
J| 50,051
Al 25,026
- 25,025
307 2I2+01A 100,102 100,102 0
| 50,051
Al 25,026
- 25,025
05 CIZtAErZ 100,102 100,102 0
OFALEHINY 29 100,102
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2A:

B HAE P95 U 54
&elr @Al =X ESR=ED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 210,888 210,888 0
| 105,444
Al 105,444
10 Al =S XA EBEER2IHIE X 210,883 210,888 0
OFad 3I=XEANE 29 N& 210,883
J| 105,444
Al 105,444
AU 3IFKIAE SAAL SXAZAE 400 400 0
Al 400
307 QI2Hol M 400 400 0
Al 400
10 AISISXAIEHE2ZHIEX 400 400 0
OFAE 3I=SXJAE SALAL SKIEUE 400
Al 400
AU 3SKEAE SAN MM 16,946 16,946 0
Al 16,946
307 212+01™ 16,946 16,946 0
Al 16,946
10 AISIS XA EEE2IHIE X 16,946 16,946 0
OFAE 3I=XFAE SANL MM+ 16,946
Al 16,946
HAE 3SXJAAE SAEA A2t 2,870 2,870 0
Al 2,870
307 212+01™ 2,870 2,870 0
Al 2,870
10 AISIS XA EEHER2IHIE X 2,870 2,870 0
OFAE 3I=XJAE SALA AlII=E 2,870
Al 2,870
HAESEY 2F 10,000 10,000 0
307 212+01 A 10,000 10,000
11 AR SXAMEER 10,000 10,000
OF2ENSE0Y 22 10,000
FAHS Ols BS 12,390,521 11,927,563 462,958
= 1,598,312
= 800,682
| 80,814
Al 8,234,640
- 1,676,073
Ots=XAIE 28 X2 5,929,486 5,934,386 24,900
= 573,259
Al 5,354,427
- 1,800
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AN OEE L
M HoE Ol ©5
s OlSSXAIE 28XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLSAIE ==X dAHSN 480,000 480,000 0
= 432,000
Al 48,000
301 EtE N = 480,000 480,000 0
= 432,000
Al 48,000
01 Al EE A S (2 RNEXMA) 480,000 480,000 0
OO0tsAIE ==kt 4AHSN 480,000
= 432,000
Al 48,000
OlSAIE2EHl & SAHA 2124H 4,913,695 4,913,69% 0
Al 4,913,695
307 @120l & 4,913,695 4,913,695 0
Al 4,913,695
10 Al SXAIEEHE2EHI2x 4,913,695 4,913,695 0
OOtSSAAIE 2gH| & SARI2Y] 4,913,695
Al 4,913,695
OlSESAIE AEFHHl XA 111,866 111,866 0
Al 111,866
307 @I2t01 & 111,866 111,866 0
Al 111,866
11 AMEISXAIEEXS 111,866 111,866 0
Oltsd=sAlIe AMFgH N 111,866
Al 111,866
OlSAIE 2] - 2tZHe X 12,000 12,000 0
Al 12,000
307 @I2t01 & 12,000 12,000 0
Al 12,000
10 Al SXAAEEHE 22X 12,000 12,000 0
OO0ISAIE et 2te], 2doietl A2 12,000
Al 12,000
Ors=sXgoRde 23 1,800 6.800 A5,000
201 er23| 1,800 6,800 25,000
01 At2teltl 1,800 6,800 /5,000
Oots=sXa2?Ee 20 #4+E
100,000 x9& »23] 1,800
AR S0tE RAERE 10,500 10,500 0
= 7,350
Al 3,180
307 212+01& 10,500 10,500 0
= 7,350
Al 3,180
10 Al2IS XA E 22X 10,500 10,500 0
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AN OEE L
3 HAAS Ots 2
el Ols=EXAE 23X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O3AEXNSOtS NHERE 10,500
= 7,350
Al 3,180
22PS0ts 188 24 97,593 97,593 0
= 39,037
Al 58,556
307 21201 & 97,593 97,593 0
= 39,037
Al 58,556
10 Al2ISTIAIEEE 22X 97,593 97,593 0
OSSMEIIF(OEE) 21 97,593
= 39,037
Al 58,556
SSHEINE 230t5 K& 15,344 15,344 0
Al 15,344
307 elztol & 15,344 15,344 0
Al 15,344
10 AlISXAZEHE 22X 15,344 15,344 0
OssdaEity 2s0ts XA 15,344
Al 15,344
SSdEHy ord &gl XNIH 900 900 0
Al 900
307 elztol & 900 900 0
Al 900
10 AlISXAZEE 22X 900 900 0
OssdaItd 22t N3 900
Al 900
SSHEIE SAHA MLIHE 19,440 19,740 2300
Al 19,440
307 glztol & 19,440 19,740 A300
Al 19,440
10 Al SXAEEE 22X 19,440 19,740 A300
OSSUEIIE SALA MRHEH 19,440
Al 19,440
SSUEINE SML SXEE 400 0 400
Al 400
307 elztol & 400 0 400
Al 400
10 AlRISTIAEEE 22X 400 0 400
OZSHUEINE SAL SXELIE 400
Al 400
SSUEIE S ALL224E 1,435 1,435 0
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2A: JIEEM
M HoE Ol ©5
&t OtESAAIE 2R (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 1,435
307 212+01™ 1,435 1,435 0
Al 1,435
10 AISIS XA EEE2IHIE X 1,435 1,435 0
OSSMEIIE SAK A2 24 1,435
Al 1,435
SIaiorsay 29 K& 237,182 237,182 0
= A,872
Al 142,310
307 212+01 A 237,182 237,182 0
= A,872
Al 142,310
10 Al S XA EBEER2IHIE X 237,182 237,182 0
Osttiloiotssd 22 XA 237,182
= A,872
Al 142,310
SHHIloHOts& e AXd=s4dl K& 6,580 6,580 0
Al 6,580
307 212+01™ 6,580 6,580 0
Al 6,580
10 IS SXAIEHE2ZHIEX 6,580 6,580 0
Ostiiiloiotsad A&8=s4Hl XA 6,580
Al 6,580
SN TOIGHOtS & E SARH H<I0A | 17,760 18,360 AB600
Al 17,760
307 212+01™ 17,760 18,360 AB00
Al 17,760
10 AISIS XA EEHER2IHIE X 17,760 18,360 AB00
OstiIloiotsa e SALA MSIH&L] 17,760
Al 17,760
SN TOIGHOtS EE SAHAF SXIEZLIE 600 0 600
Al 600
307 212+01™ 600 0 600
Al 600
10 Al =S XA EEHE2IHIE X 600 0 600
OstiIloiotsa e SAtA SXIEZRIE 600
Al 600
SIHOIGHOtSEH SAIR A2 2RaY 2,391 2,391 0
Al 2,391
307 2Iz2+0l™ 2,391 2,391 0
Al 2,391
10 Al =S XA EBEER2IHIE X 2,391 2,391 0




SH: IEEBY
M HoE Ol ©5
&t OtESAAIE 2R (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OstiIlootsaE e AL Al2t22fs+Y 2,391
Al 2,391
KNSAS OS2l AAst |4 6,461,035 5,993,177 467,858
= 1,025,053
= 800,682
| 80,814
Al 2,880,213
- 1,674,273
2A0tE IHE KA (EE4H) 84,000 84,000 0
| 58,800
Al 25,200
301 LBBENZ 84,000 84,000 0
| 58,800
Al 25,200
01 AISIBE XS (2 RETE) 84,000 84,000 0
A0S YT4Y
200,000 123 *35H 84,000
J| 58,800
Al 25,200
A2A0ots IHE X2 (HMHOLS LdR+Y) 20,248 20,248 0
| 14,174
Al 6,074
301 LEENZ 20,248 20,248 0
| 14,174
Al 6,074
01 AISIBE XS (2 REXTE) 20,248 20,248 0
O ots =g N2 20,248
J| 14,174
Al 6,074
22 - JIEREOts Alelxlz K& 4,800 4,800 0
= 3,360
Al 1,440
301 LetEHZ 4,800 4,800 0
= 3,360
Al 1,440
01 Al B&XHZ2(2REETA) 4,800 4,800 0
OYg - JHEIE0LS MK X 4,800
= 3,360
Al 1,440
U2AOtE ItE X2 (LLY=E62 XA) 4,000 4,000 0
= 2,800
Al 1,200
301 LB F 4,000 4,000 0
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AN OEE L
3 HAAS Ots 2
&elr XFAE] Ots2 ANst |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,800
Al 1,200
01 A2 HSHS(RNEERTH) 4,000 4,000 0
Ooge=ols K& 4,000
= 2,800
Al 1,200
LAOtS JIE X (P=2A02t 21 X&) 2,100 2,100 0
Il 1,470
Al 630
301 EtE NS 2,100 2,100 0
Jl 1,470
Al 630
01 AR 2EHSHS(RDNEXRTHE) 2,100 2,100 0
Og=ec2t 21 XI& 2,100
Jl 1,470
Al 630
PAOtS JIE XS (YLHIEXH) 9,100 9,100 0
) 6,370
Al 2,730
307 @20l & 9,100 9,100 0
Il 6.370
Al 2,730
1 AR SXAIEE X 9,100 9,100 0
ogHIE X 9,100
Jl 6,370
Al 2,730
PAOtES JIE X (Y2UHaots 25 X&) 24,000 24,000 0
= 16,800
Al 7,200
301 EtE N = 24,000 24,000 0
= 16,800
Al 7,200
01 Al EE AL S(FRDEXMA) 24,000 24,000 0
dUY0ts 28 XA 24,000
= 16,800
Al 7,200
By geks Otsaga X 1,640,000 1,640,000 0
Al 984,000
- 656,000
307 elztol & 1,640,000 1,640,000 0
Al 984,000
- 656,000
1 AMEISXAIEEXS 1,640,000 1,640,000 0
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2A: JIEEM
mH: HoE Ol ©5
2l: XGALEl Ots2l HEs |4 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
301 LPBNZ 80,000 80,000 0
Al 40,000
- 40,000
02 MBI EZASHS(HAUAS, XLTHA) 80,000 80,000 0
OJtE%E0ls MEEs=a K& 80,000
Al 40,000
- 40,000
2SEZ0ts NE=E 342,000 336,000 6,000
= 273,600
Al 68,400
301 YEBENZ 342,000 336,000 6,000
= 273,600
Al 68,400
01 A B& X Z2(2REETHA) 342,000 336,000 6,000
OB&s&=0ts MY 342,000
= 273,600
Al 68,400
BSEZ0S XY XS (AIHIEXRAIY) 84,000 0 84,000
Al 67,200
- 16,800
301 LetENZ 84,000 0 84,000
Al 67,200
- 16,800
2 A BEHHZ(HAAHS, NYHA) 84,000 0 84,000
OESZ20ts NS+ (AHIEEAY) 84,000
Al 67,200
- 16,800
Ots 2 E X2 H = 835,504 428,571 406,933
= 584,853
Al 250,651
301 LB F 835,504 428,571 406,933
= 584,853
Al 250,651
01 AISIBEH LGS (2 LEZME) 835,504 428,571 406,933
OLIgMStSEXIA 835,504
= 584,853
Al 250,651
XNSE0tsdle 294 XI# 240,696 220,296 20,400
= 120,348
Al 60,174
- 60,174
307 2I2+01A 240,69%6 220,296 20,400
iy 120,348
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2A: JIEEM
mH: HoE Ol ©5
2l: XGALEl Ots2l HEs |4 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 60,174
- 60,174
10 AISIS XA EEE2IHIE X 240,69%6 220,296 20,400
OJ1223h8l X 214,8%6
= 107,448
Al 53,724
- 53,724
OFIt2gl NA(CHHE 29 Yol) 25,800
= 12,900
Al 6,450
- 6,450
X S0otsHlE l2iH| X 1,001,088 1,001,088 0
= 500,544
Al 250,272
- 250,272
307 QIZ2t0I A 1,001,088 1,001,088 0
iy 500,544
Al 250,272
- 250,272
10 Al = XA EHE2IHIE X 1,001,088 1,001,088 0
OXN<Y0tsHIE 2lAH| XA 1,001,088
= 500,544
Al 250,272
- 250,272
S8y Y90tsHH FIHKIA 61,744 61,744 0
= 30,872
Al 15,436
- 15,436
307 212+01™ 61,744 61,744 0
= 30,872
Al 15,436
- 15,436
10 Al =S XA EEHER2IHIE X 61,744 61,744 0
OE=+=8d XS0tsHE =K 61,744
= 30,872
Al 15,436
- 15,436
EREY XSO0tSHE =IO 4,800 7,260 2,460
= 2,400
Al 1,200
- 1,200
307 2I2+01A 4,800 7,260 2,460
iy 2,400
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S JbEEBD
ZE: FHOE OFS 25

2l: XGALEl Ots2l HEs |4 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 1,200
- 1,200
10 AISIS XA EEE2IHIE X 4,800 7,260 A2,460
OEREY XYotsdH FIHXE 4,800
= 2,400
Al 1,200
- 1,200
XSotsHlE 2ZoHadl XA 12,000 20,000 A8,000
= 6,000
Al 3,000
- 3,000
307 QIZ2t01 A 12,000 20,000 A8,000
oy 6,000
Al 3,000
- 3,000
10 Al = XA EHE2FHIE X 12,000 20,000 A8,000
OXIH0tsHIE SNl X 12,000
= 6,000
Al 3,000
- 3,000
Ots=XIWAF TFAXIA 251,834 251,834 0
= 120,518
Al 60,258
- 71,058
101 2124 d| 251,834 251,834 0
= 120,518
Al 60,258
- 71,058
M IIRINZ2Z2XsSEs 251,834 251,834 0
OO0ts=X WA Q1244 XI& 241,034
= 120,518
Al 60,258
- 60,258
O0ts=X A SXIEOIE 3,600
OOts=EX At HEAMNS 7,200
NSG0tsHEH SAA H<SIHAH] 269,977 269,977 0
Al 124,189
- 145,788
307 QIZ2t01 A 269,977 269,977 0
Al 124,189
- 145,788
10 AISIS XA EEE2FHIE X 269,977 269,977 0
OXIG0tsHIE SAR HIH&HI 248,377




2A:
PSR
ool

JIEZ AL
xlOtj;”x OI.E EE

ASGAtel Ots2 H8et =4

SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 124,189
T 124,188
OAEd, HESXAL XML& 21,600

NS 0tsSHE 22 08l X3 29,160 29,880 AT
Al 14,580
- 14,580

307 21201 & 29,160 29,880 AT20
Al 14,580
- 14,580

10 Al2ISTIAIEEE 22X 29,160 29,880 AT20
OXY0tsHde =2 8| X 29,160
Al 14,580
T 14,580

NE=Es NE0tsde 28 N 15,600 15,600 0
Al 7,800
- 7,800

307 @120l & 15,600 15,600 0
Al 7,800
- 7,800

10 Al SXAEEE 22X 15,600 15,600 0
OME == XN0tsHE 28 X 15,600
Al 7,800
- 7,800

NSotSHE dte 2dH X2 9,030 9,130 A100
Al 2,415
- 6,615

307 el2to| & 9,030 9,130 A100
Al 2,415
- 6,615

10 MEISXAEHE2EHIE2X 9,030 9,130 A100
OXIH0tsHlE e 23| X (ExX) 4,830
Al 2,415
- 2,415
OXleiots e ditet 28] X2 (XHH) 4,200

KS0otsHE SAHAH SXIEZE K& 3,000 3,000 0
Al 3,000

307 212+01& 3,000 3,000 0
Al 3,000

10 AlISXAEEHE 22X 3,000 3,000 0
OXGOtSHE SAL SAZE X3 3,000
Al 3,000

KSOISHE SAEL AlZIZ22+E 14,392 14,347 45
Al 7,19%




AN OEE L
3 HAAS Ots 2
&elr XFAE] Ots2 ANst |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 7,19
307 gl2tol & 14,392 14,347 45
Al 7,19%
- 7,19%
10 Al SXA2EE 22X 14,392 14,347 45
OXISOtSHE! BALL AlI2RE 14,392
Al 7,19
- 7,19%
A otsHE 29 5,800 800 5,000
201 er23| 5,800 800 5,000
01 At2teltl 5,800 800 5,000
OXNSOtSHHRARE 22 B4g
100,0003 8 *13] 800
OXgotsHtH 82 S 5,000
FHAAE OlsSEAEIA X2 180,300 232,140 A\51,840
= 128,240
Al 9,618
- 42,442
201 etz 3| 156,800 165,120 A8,320
= 109,440
Al 8,208
- 30,152
01 AtR2t2|HI 145,800 146,360 A560
OEHAERE 2208 23 109,500
= 87,600
Al 6,570
- 16,330
Ostsid T2 2 20,000
OS|Y=RIAG Al 22t S 1,500
= 1,200
Al 0
- 210
OEEHAERE dH 25 1,000
= 800
Al 60
- 140
OLEAEE ME AU FH| 5,000
= 4,000
Al 300
- 700
OEEHAREZE R ?B+E 1,800
= 1,440
Al 108




AN OEE L
3 HAAS Ots 2
&elr XFAE] Ots2 ANst |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 252
OEHAERIE 222 MA 5,000
= 4,000
Al 300
- 700
OLEEAEHE SEEEAAE RX2L 1,000
= 800
Al 60
- 140
O#IMHIE HMA 2=(2gHI) 1,000
= 800
Al 60
- 140
02 S3=gHl 8,000 15,760 AT,760
OoRERs, MJIEs S &38= 5,000
= 4,000
Al 300
- 700
OXtg =R/l 3,000
= 2,400
Al 180
- 420
03 A= 3,000 3,000 0
OLEAHE 8274 29 3,000
= 2,400
Al 180
- 420
202 04| 14,000 14,840 N840
= 11,200
Al 840
- 1,960
01 =LHOHI 14,000 14,840 N840
OLEAEE MRUSF S0 14,000
= 11,200
Al 840
T 1,960
203 HR=AH] 1,500 2,000 2500
= 1,200
Al 0
T 210
03 A=A 2= 1,500 2,000 2500
OLEAEE 2t83 S AIZFAHI 1,500
= 1,200




AN OEE L
3 HAAS Ots 2
&elr XFAE] Ots2 ANst |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 0
T 210
301 EtE N = 8,000 8,000 0
= 6,400
Al 480
- 1,120
11 dALEEIXIE S 3,000 3,000 0
OEEAEE Z23 ZW A+ Al 3,000
= 2,400
Al 180
= 420
14 IIEt2 8= 5,000 5,000 0
OCEEAEE T2 ZAH| 5,000
= 4,000
Al 300
- 700
OlSSI AL S33tA 8,800 6,200 2,600
201 er23 | 8,200 5,600 2,600
01 At2teltl 1,200 0 1,200
OOtSSHHEAL Xt S&= 200
OOtssitHg AHel & 2= 1,000
02 S3=gHl 7,000 5,600 1,400
OO0tsS AL B3 =] 4,000
Ootssti A Tt S & [ 3,000
307 glztol & 600 600
019z & 3=l 600 600
Ootssrtiulal Jt8 2=dl NA S 600
OISESHEREA A 25,000 15,000 10,000
[ 20,000
Al 2,500
- 2,500
201 Ler23| 5,000 6,500 21,500
= 4,000
Al 500
- 500
01 At2t2lt] 2,000 5,000 /3,000
O0ts23dgRe JI==23t| 2,000
s 1,600
Al 200
- 200
02 S5=24g4l 3,000 1,500 1,500
O0ls23dERE M= 3,000
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D JIEEE)

S5

D FHYAE Ot B

¢ NgALE OS2l AXE |4 (SH9 H2)
SA - B CRI(S]) - NISAY - BES A HIm=S2t

iy 2,400
Al 300
- 300

202 0441 1,000 1,000 0
iy 800
Al 100
- 100

01 =W0H 1,000 1,000 0
O0t=EsdY R W0 1,000
= 800
Al 100
- 100

203 AR F&lY| 500 0 500
= 400
Al 50
- 50

03 A FAIHRFAIH| 500 0 500
OtsESHERE HRFAL| 500
= 400
Al 50
- 50

301 LPENF 13,500 0 13,500
= 10,800
Al 1,350
- 1,350

01 AISIBE XS (2 REXTE) 13,500 0 13,500
O0=sESHE 3 MEIANSHI 13,500
= 10,800
Al 1,350
- 1,350

307 212+01 A 5,000 7,500 22,500
= 4,000
Al 500
- 500

01 22 2 3=H| 5,000 7,500 A2,500
OOl=sE2sHdgRd HaXH MEIA2ZY| 5,000
= 4,000
Al 500
- 500

HY2YFHI(OIFHAL) 466,213 332,344 133,869
= 115,920
iy 144,808
Al 32,199




SN ISP
M HZYRAZHIOIEFAL)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 173,286
eIg =g 395,713 264,924 140,789
= 115,920
= 144,808
Al 32,199
- 102,786
OlIsEsdgRd 177,430 87,724 89,706
= 130,400
Al 16,300
- 30,730
101 21AH| 177,430 87,724 89,706
[ 130,400
Al 16,300
- 30,730
02 JIEtA 2= 177,430 87,724 89,706
OAIRZIIEHAINSRA(OISESHER
2 5%) oAl 163,000
[ 130,400
Al 16,300
- 16,300
OARZIEHAINSRA(OISESHER
2 52) Al2telag
9,620& *25A| 25+ 123 14,430
FHAASE OlsSEAEIA X2 175,400 129,050 46,350
= 114,000
Al 8,550
- 52,850
101 21AH| 175,400 129,050 46,350
= 114,000
Al 8,550
- 52,850
03 SR (RIH )22 U2+ 175,400 124,350 51,050
Oots At ZeIAt JlEe S(49) 142,500
= 114,000
Al 8,550
- 19,950
OYHIAMHI 140,0002 « 12 +4& 6,720
OgZ =l 8,240
OgxResRIIre 7,400
Ott&isl & =X dM=sUs XE3
30,0003 *33| 44 360
OIE+e 390,000 * 122 4,680
O8lta0= 5,500
Ol =X AL I 40,483 36,750 4,733

_39_




SN ISP
M HZYRAZHIOIEFAL)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 14,408
Al 7,205
- 18,870
101 21AH| 40,483 35,750 4,733
[ 14,408
Al 7,205
- 18,870
03 SRA(RIH )22 U2+ 40,483 34,563 5,920
OOtSE X WAHKIFALZ S XA 1F) el24H| 29,109
[ 14,408
Al 7,205
- 7,4%
OFHIAMHI 140,000& 122 1,680
OJEx=g 70,0003 * 122 840
OE &=l 2,425,660 *80% 1,941
OAItelx=& 13,5423 x150%* 15A1 2Hx 12 3,657
OuxtraExt=¢
13,5423 <8AI 2t 17 1,842
O=zF¥EHM=Ua K& 30
Ot iial X 30,0002 22 60
Oodnaoi=s 3,166,580 «38%+*110% 1,324
#HHIE XA F=(+8) 2,400 2,400 0
= 1,920
Al 144
T 336
101 @124H| 2,400 2,400 0
= 1,920
Al 144
- 336
03 SR (RINHA) 222+ 2,400 2,400 0
O#FLHIE HMH =5 =<
200,000& x1H~12& 2,400
= 1,920
Al 144
- 336
=3l 70,500 77,420 26,920
Jl=3H] 70,500 77,420 26,920
201 er23 | 28,200 28,020 180
01 At2teltl 28,200 28,020 180
O=AEA 7Y 25,0003 602 A 1,500
OFH & =8 7¢ 3,720
== 132,000 *2CH+53] 1,320
-ZHZEE &l 150,000 »2CH+83] 2,400
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S JEFED)
MY #™AAH (IEHH)
s Jl=dhl EER=E)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OFAEEIIZ2+EHI
20,0002 x252 » 122 «05% 5,700
OARIA2LUSAHI(LIIH ZF)
8,0003x641x30& * 122 17,280
202 04| 37,200 43,200 26,000
01 SLHo4HI 37,200 43,200 26,000
OZLHNBI(ZKIIM Z&)
100,000 «30E 122 36,000
OZLH O] (XIS ALRI S XIA})
20,0003 *1H 53]« 123 1,200
203 HR=AY] 5,100 5,100
MU FA2SHIFII 5,100 5,100
ORAMEZE =4 5,100
-30Q101GHLIIM ZEt)
400,000 123 4,800
-E I (S2H 5F)
5,0002 5% ~12& 300
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